J. Appl. Math. & Informatics Vol. 41(2023), No. 1, pp. 1 - 9 https://doi.org/10.14317/jami.2023.001

APPLICATIONS OF QUASI POWER INCREASING SEQUENCES TO INFINITE SERIES

HİKMET SEYHAN ÖZARSLAN*, MEHMET ÖNER ŞAKAR AND BAĞDAGÜL KARTAL

ABSTRACT. In the present paper, two theorems on absolute matrix summability of infinite series are generalized for the $\varphi - |A, p_n|_k$ summability method using quasi β -power increasing sequences instead of almost increasing sequences.

 $2020~\mathrm{AMS}$ Mathematics Subject Classification: 26D15, 40D15, 40F05, 40G99.

Key words and phrases : Absolute matrix summability, almost increasing sequences, infinite series, Hölder's inequality, Minkowski's inequality, summability factors, quasi power increasing sequences.

1. Introduction

Let $\sum a_n$ be a given infinite series with the partial sums (s_n) . Let (p_n) be a sequence of positive numbers such that

$$P_n = \sum_{v=0}^n p_v \to \infty \quad as \quad n \to \infty, \quad \left(P_{-i} = p_{-i} = 0, \quad i \ge 1\right).$$

Let $A = (a_{nv})$ be a normal matrix, i.e., a lower triangular matrix of nonzero diagonal entries and let (φ_n) be any sequence of positive real numbers. The series $\sum a_n$ is said to be summable $\varphi - |A, p_n|_k$, $k \ge 1$, if (see [11])

$$\sum_{n=1}^{\infty} \varphi_n^{k-1} |A_n(s) - A_{n-1}(s)|^k < \infty,$$

Received February 2, 2021. Revised August 29, 2022. Accepted August 31, 2022. *Corresponding author.

 $[\]bigodot$ 2023 KSCAM.

where

$$A_n(s) = \sum_{v=0}^n a_{nv} s_v, \quad n = 0, 1, \dots$$

For $\varphi_n = \frac{P_n}{p_n}$, $\varphi - |A, p_n|_k$ summability reduces to $|A, p_n|_k$ summability (see [21]). For $\varphi_n = n$ for all n, $\varphi - |A, p_n|_k$ summability is the same as $|A|_k$ summability (see [22]). Also, for $\varphi_n = \frac{P_n}{p_n}$ and $a_{nv} = \frac{p_v}{P_n}$, we get $|\bar{N}, p_n|_k$ summability (see [2]).

A positive sequence (b_n) is said to be almost increasing if there exist a positive increasing sequence (c_n) and two positive constants K and M such that $Kc_n \leq b_n \leq Mc_n$ (see [1]). Obviously, every increasing sequence is almost increasing but the converse need not be true as can be seen from the example $b_n = 3^{(-1)^n} n^3$. There are some different studies on almost increasing sequences, for more details, see [4, 8, 9, 10, 13, 14, 16, 17, 18, 19]. Furthermore, in [20], the following theorems on almost increasing sequences have been obtained.

Theorem 1.1. Let (X_n) be an almost increasing sequence, and let there be sequences (γ_n) and (λ_n) such that

$$|\Delta\lambda_n| \le \gamma_n,\tag{1}$$

$$\gamma_n \to 0 \quad as \quad n \to \infty,$$
 (2)

$$\sum_{n=1}^{\infty} n |\Delta \gamma_n| X_n < \infty, \tag{3}$$

$$|\lambda_n|X_n = O(1) \quad as \qquad n \to \infty.$$
(4)

Let $A = (a_{nv})$ be a positive normal matrix such that

$$\bar{a}_{n0} = 1, \quad n = 0, 1, ...,$$
 (5)

$$a_{n-1,v} \ge a_{nv} \quad for \quad n \ge v+1, \tag{6}$$

$$a_{nn} = O\left(\frac{p_n}{P_n}\right). \tag{7}$$

If

$$\sum_{v=1}^{n} \frac{|s_v|^k}{v} = O(X_n) \quad as \quad n \to \infty,$$
(8)

$$\sum_{v=1}^{n} \frac{p_v}{P_v} |s_v|^k = O(X_n) \quad as \quad n \to \infty,$$
(9)

then the series $\sum a_n \lambda_n$ is summable $|A, p_n|_k, k \ge 1$.

Theorem 1.2. Let (X_n) be an almost increasing sequence, and let the conditions (1)-(4), (9) be satisfied. Let $A = (a_{nv})$ be a positive normal matrix as in Theorem 1.1. If the conditions

$$\sum_{v=1}^{\infty} P_v |\Delta \gamma_v| X_v < \infty, \tag{10}$$

$$\sum_{v=1}^{n} \frac{|s_v|^k}{P_v} = O(X_n) \quad as \quad n \to \infty$$
(11)

are satisfied, then the series $\sum a_n \lambda_n$ is summable $|A, p_n|_k$, $k \ge 1$.

2. Main Results

A positive sequence $X = (X_n)$ is said to be a quasi β -power increasing sequence if there exists a constant $K = K(\beta, X) \ge 1$ such that $Kn^{\beta}X_n \ge m^{\beta}X_m$ holds for all $n \ge m \ge 1$ (see [6]). Every almost increasing sequence is a quasi β power increasing sequence for any nonnegative β , but the converse need not be true as can be seen by taking an example, say $X_n = n^{-\beta}$ for $\beta > 0$. A sequence (λ_n) is said to be of bounded variation, denoted by $(\lambda_n) \in \mathcal{BV}$, if $\sum_{n=1}^{\infty} |\Delta \lambda_n| = \sum_{n=1}^{\infty} |\lambda_n - \lambda_{n+1}| < \infty$. For some studies on quasi power increasing sequences, we refer to [3, 5, 12, 15]. The aim of this paper is to generalize Theorem 1.1 and Theorem 1.2 to $\varphi - |A, p_n|_k$ summability method using quasi β -power increasing sequences. Before stating our theorems, we must first introduce some further notations. Given a normal matrix $A = (a_{nv})$, two lower semimatrices $\overline{A} = (\overline{a}_{nv})$ and $\widehat{A} = (\widehat{a}_{nv})$ are defined as follows:

$$\bar{a}_{nv} = \sum_{i=v}^{n} a_{ni}, \quad n, v = 0, 1, \dots$$
 (12)

$$\hat{a}_{00} = \bar{a}_{00} = a_{00}, \quad \hat{a}_{nv} = \bar{a}_{nv} - \bar{a}_{n-1,v}, \quad n = 1, 2, \dots$$
 (13)

and

$$A_n(s) = \sum_{v=0}^n a_{nv} s_v = \sum_{v=0}^n \bar{a}_{nv} a_v$$
(14)

$$\bar{\Delta}A_n(s) = \sum_{v=0}^n \hat{a}_{nv} a_v.$$
(15)

Theorem 2.1. Let $(\lambda_n) \in \mathcal{BV}$ and $A = (a_{nv})$ be a positive normal matrix as in Theorem 1.1. Let (X_n) be a quasi β -power increasing sequence for some $0 < \beta < 1$ and $\left(\frac{\varphi_n p_n}{P_n}\right)$ be a non-increasing sequence. If the conditions (1)-(4) and

$$\sum_{v=1}^{n} \left(\frac{\varphi_v p_v}{P_v}\right)^{k-1} \frac{|s_v|^k}{v} = O(X_n) \quad as \quad n \to \infty,$$
(16)

H.S. Özarslan, M.Ö. Şakar, B. Kartal

$$\sum_{v=1}^{n} \varphi_v^{k-1} \left(\frac{p_v}{P_v}\right)^k |s_v|^k = O(X_n) \quad as \quad n \to \infty,$$
(17)

are satisfied, then the series $\sum a_n \lambda_n$ is summable $\varphi - |A, p_n|_k$, $k \ge 1$.

Theorem 2.2. Let $(\lambda_n) \in \mathcal{BV}$ and $A = (a_{nv})$ be a positive normal matrix as in Theorem 1.1. Let (X_n) be a quasi β -power increasing sequence for some $0 < \beta < 1$ and $\left(\frac{\varphi_n p_n}{P_n}\right)$ be a non-increasing sequence. If the conditions (1)-(4), (10), (17) and

$$\sum_{v=1}^{n} \left(\frac{\varphi_v p_v}{P_v}\right)^{k-1} \frac{|s_v|^k}{P_v} = O(X_n) \quad as \quad n \to \infty$$
(18)

are satisfied, then the series $\sum a_n \lambda_n$ is summable $\varphi - |A, p_n|_k$, $k \ge 1$.

Lemma 2.3. ([6]) Let (X_n) be a quasi β -power increasing sequence for some $0 < \beta < 1$. If the conditions (2) and (3) are satisfied, then

$$nX_n\gamma_n = O(1) \quad as \quad n \to \infty,$$
 (19)

$$\sum_{n=1}^{\infty} X_n \gamma_n < \infty.$$
 (20)

Lemma 2.4. ([3]) Let (X_n) be a quasi β -power increasing sequence for some $0 < \beta < 1$. If the conditions (2) and (10) are satisfied, then

$$P_n X_n \gamma_n = O(1) \quad as \quad n \to \infty, \tag{21}$$

$$\sum_{n=1}^{\infty} p_n X_n \gamma_n < \infty.$$
(22)

3. Proof of Theorem 2.1

Let (M_n) denotes A-transform of the series $\sum a_n \lambda_n$. Then, by (14) and (15), we have

$$\bar{\Delta}M_n = \sum_{v=1}^n \hat{a}_{nv} \lambda_v a_v.$$

By Abel's transformation, we have

$$\begin{split} \bar{\Delta}M_n &= \sum_{v=1}^{n-1} \Delta_v(\hat{a}_{nv}\lambda_v) \sum_{k=1}^v a_k + \hat{a}_{nn}\lambda_n \sum_{v=1}^n a_v \\ &= \sum_{v=1}^{n-1} (\hat{a}_{nv}\lambda_v - \hat{a}_{n,v+1}\lambda_{v+1} - \hat{a}_{n,v+1}\lambda_v + \hat{a}_{n,v+1}\lambda_v) s_v + a_{nn}\lambda_n s_n \\ &= \sum_{v=1}^{n-1} \Delta_v(\hat{a}_{nv})\lambda_v s_v + \sum_{v=1}^{n-1} \hat{a}_{n,v+1}\Delta\lambda_v s_v + a_{nn}\lambda_n s_n = M_{n,1} + M_{n,2} + M_{n,3}. \end{split}$$

To prove Theorem 2.1, by Minkowski's inequality, it is sufficient to show that

$$\sum_{n=1}^{\infty} \varphi_n^{k-1} |M_{n,r}|^k < \infty \quad for \quad r = 1, 2, 3.$$

From Hölder's inequality, we obtain

$$\sum_{n=2}^{m+1} \varphi_n^{k-1} | M_{n,1} |^k$$

$$\leq \sum_{n=2}^{m+1} \varphi_n^{k-1} \left(\sum_{v=1}^{n-1} |\Delta_v(\hat{a}_{nv})| |\lambda_v| |s_v| \right)^k$$

$$\leq \sum_{n=2}^{m+1} \varphi_n^{k-1} \left(\sum_{v=1}^{n-1} |\Delta_v(\hat{a}_{nv})| |\lambda_v|^k |s_v|^k \right) \left(\sum_{v=1}^{n-1} |\Delta_v(\hat{a}_{nv})| \right)^{k-1}.$$

Here, by (13) and (12), we have

$$\begin{aligned} \Delta_{v}(\hat{a}_{nv}) &= \hat{a}_{nv} - \hat{a}_{n,v+1} \\ &= \bar{a}_{nv} - \bar{a}_{n-1,v} - \bar{a}_{n,v+1} + \bar{a}_{n-1,v+1} \\ &= a_{nv} - a_{n-1,v}. \end{aligned}$$
(23)

Then, by (6), (12) and (5), we get

$$\sum_{v=1}^{n-1} |\Delta_v(\hat{a}_{nv})| = \sum_{v=1}^{n-1} (a_{n-1,v} - a_{nv}) \le a_{nn}.$$
 (24)

By using (24), (7), we have

$$\sum_{n=2}^{m+1} \varphi_n^{k-1} \mid M_{n,1} \mid^k = O(1) \sum_{n=2}^{m+1} \left(\frac{\varphi_n p_n}{P_n} \right)^{k-1} \left(\sum_{v=1}^{n-1} |\Delta_v(\hat{a}_{nv})| \left| \lambda_v \right|^k \left| s_v \right|^k \right)$$
$$= O(1) \sum_{v=1}^m |\lambda_v| |s_v|^k \sum_{n=v+1}^{m+1} \left(\frac{\varphi_n p_n}{P_n} \right)^{k-1} |\Delta_v(\hat{a}_{nv})|$$
$$= O(1) \sum_{v=1}^m \left(\frac{\varphi_v p_v}{P_v} \right)^{k-1} |\lambda_v| |s_v|^k \sum_{n=v+1}^{m+1} |\Delta_v(\hat{a}_{nv})|.$$

We get $\sum_{n=v+1}^{m+1} |\Delta_v(\hat{a}_{nv})| \le a_{vv}$ by (23) and (6), then

$$\sum_{n=2}^{m+1} \varphi_n^{k-1} \mid M_{n,1} \mid^k = O(1) \sum_{v=1}^m \varphi_v^{k-1} \left(\frac{p_v}{P_v}\right)^k |\lambda_v| |s_v|^k$$
$$= O(1) \sum_{v=1}^{m-1} \Delta |\lambda_v| \sum_{r=1}^v \varphi_r^{k-1} \left(\frac{p_r}{P_r}\right)^k |s_r|^k$$

H.S. Özarslan, M.Ö. Şakar, B. Kartal

+
$$O(1)|\lambda_m| \sum_{r=1}^m \varphi_r^{k-1} \left(\frac{p_r}{P_r}\right)^k |s_r|^k$$

= $O(1) \sum_{v=1}^{m-1} \gamma_v X_v + O(1)|\lambda_m| X_m$
= $O(1)$ as $m \to \infty$,

by Abel's transformation, and using the conditions (1), (17), (20) and (4).

Again, using Hölder's inequality, we obtain

$$\begin{split} \sum_{n=2}^{m+1} \varphi_n^{k-1} \mid M_{n,2} \mid^k &\leq \sum_{n=2}^{m+1} \varphi_n^{k-1} \left(\sum_{v=1}^{n-1} |\hat{a}_{n,v+1}| |\Delta \lambda_v| |s_v| \right)^k \\ &\leq \sum_{n=2}^{m+1} \varphi_n^{k-1} \left(\sum_{v=1}^{n-1} |\hat{a}_{n,v+1}| |\Delta \lambda_v| |s_v|^k \right) \\ &\times \left(\sum_{v=1}^{n-1} |\hat{a}_{n,v+1}| |\Delta \lambda_v| \right)^{k-1}. \end{split}$$

Now, by (13), (12), (6), we get

$$|\hat{a}_{n,v+1}| = \bar{a}_{n,v+1} - \bar{a}_{n-1,v+1} = a_{nn} + \sum_{i=v+1}^{n-1} (a_{ni} - a_{n-1,i}) \le a_{nn}.$$

Then, using (7) and (1), we have

$$\sum_{n=2}^{m+1} \varphi_n^{k-1} \mid M_{n,2} \mid^k = O(1) \sum_{n=2}^{m+1} \left(\frac{\varphi_n p_n}{P_n} \right)^{k-1} \left(\sum_{v=1}^{n-1} |\hat{a}_{n,v+1}| \gamma_v |s_v|^k \right) \\ \times \left(\sum_{v=1}^{n-1} |\Delta \lambda_v| \right)^{k-1}.$$

Here, using the fact that $(\lambda_n) \in \mathcal{BV}$, we get

$$\sum_{n=2}^{m+1} \varphi_n^{k-1} \mid M_{n,2} \mid^k = O(1) \sum_{n=2}^{m+1} \left(\frac{\varphi_n p_n}{P_n} \right)^{k-1} \left(\sum_{v=1}^{n-1} |\hat{a}_{n,v+1}| \gamma_v |s_v|^k \right)$$
$$= O(1) \sum_{v=1}^m \gamma_v |s_v|^k \sum_{n=v+1}^{m+1} \left(\frac{\varphi_n p_n}{P_n} \right)^{k-1} |\hat{a}_{n,v+1}|.$$

We have $\sum_{n=v+1}^{m+1} |\hat{a}_{n,v+1}| \le 1$ by (13), (12), (5) and (6), then

$$\sum_{n=2}^{m+1} \varphi_n^{k-1} \mid M_{n,2} \mid^k = O(1) \sum_{v=1}^m \left(\frac{\varphi_v p_v}{P_v}\right)^{k-1} v \gamma_v \frac{|s_v|^k}{v}.$$

Thus,

$$\begin{split} \sum_{n=2}^{m+1} \varphi_n^{k-1} \mid M_{n,2} \mid^k &= O(1) \sum_{v=1}^{m-1} \Delta(v\gamma_v) \sum_{r=1}^v \left(\frac{\varphi_r p_r}{P_r}\right)^{k-1} \frac{|s_r|^k}{r} \\ &+ O(1) m\gamma_m \sum_{r=1}^m \left(\frac{\varphi_r p_r}{P_r}\right)^{k-1} \frac{|s_r|^k}{r} \\ &= O(1) \sum_{v=1}^{m-1} v |\Delta \gamma_v| X_v + O(1) \sum_{v=1}^{m-1} \gamma_{v+1} X_{v+1} \\ &+ O(1) m\gamma_m X_m = O(1) \quad as \quad m \to \infty, \end{split}$$

by using Abel's transformation, and using the conditions (16), (3), (20) and (19).

Finally, we have

$$\sum_{n=1}^{m} \varphi_n^{k-1} | M_{n,3} |^k = \sum_{n=1}^{m} \varphi_n^{k-1} a_{nn}^k |\lambda_n|^k |s_n|^k$$
$$= O(1) \sum_{n=1}^{m} \varphi_n^{k-1} \left(\frac{p_n}{P_n}\right)^k |\lambda_n| |s_n|^k$$
$$= O(1) \ as \ m \to \infty,$$

as in $M_{n,1}$, thus the proof of Theorem 2.1 is completed.

4. Proof of Theorem 2.2

For the proof of Theorem 2.2, it is sufficient to show

$$\sum_{n=1}^{\infty} \varphi_n^{k-1} \mid M_{n,r} \mid^k < \infty \quad for \quad r=2.$$

First, as in the proof of Theorem 2.1, we have

$$\sum_{n=2}^{m+1} \varphi_n^{k-1} \mid M_{n,2} \mid^k = O(1) \sum_{v=1}^m \left(\frac{\varphi_v p_v}{P_v}\right)^{k-1} \gamma_v |s_v|^k.$$

Then, by Abel's transformation, and using the conditions (18), (10), (22) and (21), we get

$$\sum_{n=2}^{m+1} \varphi_n^{k-1} \mid M_{n,2} \mid^k = O(1) \sum_{v=1}^m \left(\frac{\varphi_v p_v}{P_v}\right)^{k-1} P_v \gamma_v \frac{|s_v|^k}{P_v}$$

H.S. Özarslan, M.Ö. Şakar, B. Kartal

$$= O(1) \sum_{v=1}^{m-1} \Delta(P_v \gamma_v) \sum_{r=1}^{v} \left(\frac{\varphi_r p_r}{P_r}\right)^{k-1} \frac{|s_r|^k}{P_r} + O(1) P_m \gamma_m \sum_{r=1}^{m} \left(\frac{\varphi_r p_r}{P_r}\right)^{k-1} \frac{|s_r|^k}{P_r} = O(1) \sum_{v=1}^{m-1} P_v |\Delta \gamma_v| X_v + O(1) \sum_{v=1}^{m-1} p_{v+1} \gamma_{v+1} X_{v+1} + O(1) P_m \gamma_m X_m = O(1) \quad as \quad m \to \infty.$$

This completes the proof of Theorem 2.2.

5. Conclusions

If we take (X_n) as an almost increasing sequence and $\varphi_n = \frac{P_n}{p_n}$ in Theorem 2.1 and Theorem 2.2, the conditions (16), (17) reduce to the conditions (8), (9) and the condition (18) reduces to (11), then we get Theorem 1.1 and Theorem 1.2. Also, if we take (X_n) as an almost increasing sequence, $\varphi_n = \frac{P_n}{p_n}$ and $a_{nv} = \frac{P_v}{P_n}$ in Theorem 2.1 and Theorem 2.2, then we get two known theorems on $|\bar{N}, p_n|_k$ summability method (see [7]). In these cases, the condition $(\lambda_n) \in \mathcal{BV}$ is not needed.

Conflicts of interest : The authors declare no conflict of interest.

Data availability : Not applicable

References

- N.K. Bari and S.B. Stečkin, Best approximations and differential properties of two conjugate functions, Trudy Moskov. Mat. Obšč. 5 (1956), 483-522.
- H. Bor, On two summability methods, Math. Proc. Cambridge Philos. Soc. 97 (1985), 147-149.
- H. Bor and H.S. Özarslan, On the quasi power increasing sequences, J. Math. Anal. Appl. 276 (2002), 924-929.
- H. Bor and H.M. Srivastava, Almost increasing sequences and their applications, Internat. J. Pure Appl. Math. 3 (2002), 29-35.
- H. Bor, H.M. Srivastava and W.T. Sulaiman, A new application of certain generalized power increasing sequences, Filomat 26 (2012), 871-879.
- L. Leindler, A new application of quasi power increasing sequences, Publ. Math. Debrecen 58 (2001), 791-796.
- S.M. Mazhar, A note on absolute summability factors, Bull. Inst. Math. Acad. Sinica 25 (1997), 233-242.
- S.M. Mazhar, Absolute summability factors of infinite series, Kyungpook Math. J. 39 (1999), 67-73.
- H.S. Özarslan, A new application of almost increasing sequences, Miskolc Math. Notes 14 (2013), 201-208.
- H.S. Özarslan, A new application of absolute matrix summability, C. R. Acad. Bulgare Sci. 68 (2015), 967-972.

- H.S. Ozarslan, On generalized absolute matrix summability methods, Int. J. Anal. Appl. 12 (2016), 66-70.
- H.S. Özarslan, Generalized quasi power increasing sequences, Appl. Math. E-Notes 19 (2019), 38-45.
- H.S. Özarslan, A new factor theorem for absolute matrix summability, Quaest. Math. 42 (2019), 803-809.
- H.S. Özarslan, An application of absolute matrix summability using almost increasing and δ-quasi-monotone sequences, Kyungpook Math. J. 59 (2019), 233-240.
- H.S. Özarslan, A new result on the quasi power increasing sequences, Annal. Univ. Paedagog. Crac. Stud Math. 19 (2020), 95-103.
- H.S. Özarslan and A. Karakaş, A new result on the almost increasing sequences, J. Comp. Anal. Appl. 22 (2017), 989-998.
- H.S. Özarslan and B. Kartal, A generalization of a theorem of Bor, J. Inequal. Appl. 179 (2017), 1-8.
- H.S. Özarslan and B. Kartal, Absolute matrix summability via almost increasing sequence, Quaest. Math. 43 (2020), 1477-1485.
- H.S. Özarslan and A. Keten, On a new application of almost increasing sequence, J. Inequal. Appl. 13 (2013), 7 pp.
- H.S. Özarslan, M.Ö. Şakar and B. Kartal, Applications of almost increasing sequences to infinite series, ICOM 2020 Conference Proceedings Book, 2020, 110-116.
- W.T. Sulaiman, Inclusion theorems for absolute matrix summability methods of an infinite series. IV, Indian J. Pure Appl. Math. 34 (2003), 1547-1557.
- 22. N. Tanovič-Miller, On strong summability, Glas. Mat. Ser. III 14 (1979), 87-97.

Hikmet Seyhan Özarslan received M.Sc. and Ph.D. from Erciyes University. She is currently Professor of Mathematical Analysis in the Department of Mathematics at Erciyes University, Kayseri, Turkey. Her research interests include summability theory, Fourier analysis, matrix transformation in sequence spaces, and special functions. She has to her credit more than 100 research papers.

Department of Mathematics, Erciyes University, 38039 Kayseri, Turkey. e-mail: seyhan@erciyes.edu.tr

Mehmet Öner Şakar received M.Sc. from Erciyes University. He is currently a Ph.D. student in the Department of Mathematics at Erciyes University. His research interests are summability theory, Fourier series, sequences.

Department of Mathematics, Erciyes University, 38039 Kayseri, Turkey. e-mail: mehmethaydaroner@hotmail.com

Bağdagül Kartal received M.Sc. from Gazi University, and Ph.D. from Erciyes University. She is currently a research assistant in the Department of Mathematics at Erciyes University. Her research interests are summability theory, series, sequences.

Department of Mathematics, Erciyes University, 38039 Kayseri, Turkey. e-mail: bagdagulkartal@erciyes.edu.tr